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interface ethernetl/1

ip address 10.0.0.1 255.0.0.0
ip tcp adjust-mss 1452
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telnet 10.0.1.2

Trying 10.0.1.2...

TCP: sending SYN, seq 886170752, ack O

TCPO: Connection to 1.0.1.2:23, advertising MSS 536
tcp0: O CLOSED 1.0.1.2:23 4.0.0.1:11008 seq 886170752

OPTS 4 SYN WN 4128
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tcpO: | LISTEN 4.0.0.1:11008 1.0.1.3:23 seq 886170752
OPTS 4 SYN WN 4128
TCPO: state was LISTEN -> SYNRCVD [23 -> 4.0.0.1(11008)]

TCPO: Connection to 4.0.0.1:11008, received MSS 1452, MSS is 1452
TCP MSS zt2 #+MEl 2 14522 ZEELICEH
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